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EXERCISE 15.1 PAGE NO: 15.9

1. Discuss the applicability of Rolle’s Theorem for the following functions on the
indicated intervals:

(i) f(x) = 3 + (z — 2)5 on [1,3]

Solution:
Given function is

f(x) = 3+ (x=2)3 511, 3]
Let us check the differentiability of the function f(x).

Now we have to find the derivative of f(x),

L@ = =(3 + (x-2)3)

d(3) a d((x—z)i)
dx dx

iRl =
:f’(x) =0+ g(x—Z)g‘l
iﬂ@)=§u—m€

f'(x) = —

1
= 3(x-2)3

Now we have to check differentiability at the value of x =2

limf(x) = lim 1

£ x—2 x—2 3(x—2)5
- r 2
limf'(x) = 1
= X2 3(2-2)3

limf(x) = —

2
= x—>2 3(0)
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limf'(x) = undefined
= x—2
~ fis not differentiable at x = 2, so it is not differentiable in the closed interval
(1.3].

So, Rolle’s theorem is not applicable for the function f on the interval [1, 3].

(i) f (x) = [x] for -1 < x £ 1, where [x] denotes the greatest integer not exceeding x

Solution:
Given function is f (x) = [x], — 1=x<1 where [x] denotes the greatest integer not

exceeding x.
Let us check the continuity of the function f.

Here in the interval x € [~ 1, 1], the function has to be Right continuous at x=1
and left continuous at x = 1.

lim f(x) = lim [x]

= x—=1+ x—1+
= xl—l-lln+ f(x) = xl‘Pl h[x] Where h>0.

lim f(x) = lim1

= x—1+ h—0
= x1—1-11n+ =t (1)
_, Jpif) =l [

:.‘}BP—f(X) N xylllzh[x], where h>0

29 R/ 110

N =9 o

From (1) and (2), we can see that the limits are not the same so, the function is
not continuous in the interval [- 1, 1].

“ Rolle’s Theorem is not applicable for the function f in the interval [- 1, 1].
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1|
(iii) f(x) = sin; for —1<x<1

Solution:

{x) = sm( )

Given function is for—1<x<1

Let us check the continuity of the function ‘f at the value of x = 0.We cannot
directly find the value of limit at x = 0, as the function is not valid at x = 0. So,
we take the limit on either sides or x = 0, and we check whether they are equal
or not.

So consider RHL:

lim f(x) = lim sm( )

= x—=0+ x—=0 +

... limsin (1) = Kk
We assume that the limith-o h ,ke[-1,1].

K1_1.131+ f(x) = *(—lol(%]-]i—hSln( ) where h>0

5 i & 5
lim f(x) = limsin (—)
= x—0 + h—0 h+0

. o i
_ Jig, 19 = imsin )
L0~k

Now consider LHL:

2 |
xll%l_ f(x) = wlgn_ sin (;)
1
:;}l%l- jx) = \cl}nl sm( ) , where h>0

& . : |
" Kll%l_ f(x) = lll_l}) sin (oTh)

lim f(x) = li_Ig sin (_—lh)

= x—0-—
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. - . ; 11
lim f(x) = }111_1(1) —sin (;)

= x—0-

. - ! . i
- xlllg)l_ f(x) = —hll%l sin (;)
L e N

From (1) and (2), we can see that the Right hand and left — hand limits are not
equal, so the function f’ is not continuous at x = 0.

~ Rolle’s Theorem is not applicable to the function ‘f’ in the interval [- 1, 1].

(iv) f (x) =2x*=5x+3 on [1, 3]

Solution:

Given function is f (x) = 2x>*=5x + 3 on [1, 3]

Since given function f is a polynomial. So, it is continuous and differentiable everywhere.
Now, we find the values of function at the extreme values.

= f(1)=2(1)>-5(1) +3

=f(1)=2-5+3

= f(1)=0...... (1)

= f(3) =2(3)>-5(3) + 3

=f(3)=2(9)-15+3

=>f(3)=18-12

=5 £ {3) = B (2)

From (1) and (2), we can say that, f (1) #f (3)

=~ Rolle’s Theorem is not applicable for the function f in interval [1, 3].

(v) f(x) =x*2on[-1, 1]
Solution: _
Given function is f(X) = X3 gp [-1, 1]

Now we have to find the derivative of the given function:

A d(x% ]
= f’ (X) - d\ '.
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Py - Hoa=—i
=>f(‘s) = 3);3

. I
=>f (k) = EX 3
: 2
f'(x) = =
= 3x3

Now we have to check the differentiability of the function at x = 0.

limf(x) = lim—

= x—0 x—0 3Ix3
limf(x) = —
— x—0 3(0)z

undefined

limf'(x)
= x—0
Since the limit for the derivative is undefined at x = 0, we can say that f is not
differentiable at x = 0.

* Rolle’s Theorem is not applicable to the function ‘¥ on [- 1, 1].

Solution:

—4x + 5,0<x<1
. . f(x) = . ,
Given function is x—Wl<x=<2

Now we have to check the continuity at x = 1 as the equation of function
changes.

Consider LHL:

lim f(x) = lim —4x + 5
= x—1— Xx—1-

=>xh~n11—f(x) = —4(1) + 5
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=L (1)

Now consider RHL:

lim f(x) = lim 2x—3

= x—1+ x—-1+

lim f(x) = 2(0)—3

= x—1+

el @ =1 o)

From (1) and (2), we can see that the values of both side limits are not equal.
So, the function ‘" is not continuous at x = 1.

“ Rolle’s Theorem is not applicable to the function ‘f" in the interval [0, 2].

2. Verify the Rolle’s Theorem for each of the following functions on the indicated

intervals:
(i) f(x) =x*—8x+ 12 0n [2, 6]

Solution:
Given function is f (x) =x*—8x + 12 on [2, 6]
Since, given function f is a polynomial it is continuous and differentiable everywhere i.e.,
on R.
Let us find the values at extremes:
=f(2)=22-8(2)+12
=f(2)=4-16+12
=f(2)=
= f(6) =62-8(6) + 12
= f(6)=36-48+12
=f(6)=0
~ f(2) =f(6), Rolle’s theorem applicable for function f on [2,6].
Now we have to find the derivative of f(x)
I d(x*-8x+12)
- f'(x) = =

: d(x*) d(8x) d(12)
i S|
=>f (‘X) dx dx L dx




WWW.edllgl'OOSS.COIII

EDUGROSS

WISDOMISING KNOWLEDGE

RD Sharma Solutions for Class 12 Maths Chapter 15
Mean Value Theorems

i) =2x—8 + D

=f(x)=2x—-8

We have f'(c) = 0 € [2, 6], from the above definition

=Tc)=0

=2c—-8=0

=2c=8

C =

ra | o

=
=C=4¢[2,6]

~ Rolle’s Theorem is verified.

(i) f(x) =x*=4x+3 on [1, 3]

Solution:
Given function is f (x) = x?—4x + 3 on [1, 3]
Since, given function f is a polynomial it is continuous and differentiable everywhere i.e.,
on R. Let us find the values at extremes:
=>f(1)=12-4(1)+3
=>f(1)=1-4+3
=f(1)=0
=>f(3)=32-4(3)+3
=f(3)=9-12+3
= (318
~ (1) =1(3), Rolle’s theorem applicable for function ‘f on [1,3].
Let’s find the derivative of f(x)
. d(x®—4x + 3)
=>f (k) - dx

d(x®) d{4x) d(3)
— +
dx dx dx

) -

~f(x) =2x—4+0
= f(x)=2x-4
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We have f’(c) =0, c € (1, 3), from the definition of Rolle’s Theorem.
= (e} =0

=>2c—-4=0

=>2c=4

=c=4/2

=C=2¢€(1,3)

. Rolle’s Theorem is verified.

(iii) f (x) = (x— 1) (x —2)* on [1, 2]

Solution:

Given functionis f (x) = (x —1) (x—2)%?on [1, 2]

Since, given function f is a polynomial it is continuous and differentiable everywhere
thatis on R.

Let us find the values at extremes:

=>f(1)=(1-1)(1-2)?

= f (1) = 0(1)?

=f(1)=0

=>f(2)=(2-1)(2-2)°

= T (2] = 0%

=£(2)=0

~ f(1) =f(2), Rolle’s Theorem applicable for function ‘f on [1, 2].
Let’s find the derivative of f(x)

:f(‘\)_ dx

Differentiating by using product rule, we get

d(x—1)
dx

d((x-2)?)

dx

P = (x—2)°x + (x—1) %

= f(x) = ((x=2)x1) + ((x = 1) x 2 x (x - 2))

= f(x)=x*—4x+4+2(x*—3x+2)

=f(x)=3x"-10x+8

We have f'(c) =0 c e (1, 2), from the definition of Rolle’s Theorem.

=f(c)=0
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=3c?-10c+8=0

104,/ (-10)2—(4x3x8)

= M3
P e 10+ 100-96
= 6
1042
C = —
= 5
12 8
C = — I = -
= 6 5
c 4
= 3 €(1, 2) (neglecting the value 2)

“ Rolle’s Theorem is verified.

(iv) f (x) =x (x—=1)*on [0, 1]

Solution:

Given function is f (x) = x(x —1)? on [0, 1]

Since, given function f is a polynomial it is continuous and differentiable everywhere
that is, on R.

Let us find the values at extremes

=>f(0)=0(0-1)2

=f(0)=0
=>f(1)=1(1-1)?
= f (1)@D?>
=f(1)=0

~ f(0) =f (1), Rolle’s theorem applicable for function ‘f on [0,1].
Let’s find the derivative of f(x)

. d{x(x-1)?)
f’(X) = T

Differentiating using product rule:

dix)

d d((x-1)2)
dx :

=:’f {x) = [(x—1)°% — -

= f'(x) = ((x = 1)*x1) + (xx2x(x — 1})
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= f'(x) = (x —1)* + 2(x* — x)

=) =F— 2%+ 1 + ¢ - X

=f(x)=3x"-4x+1

We have f'(c) =0 c e (0, 1), from the definition given above.

=Plc)=0

=3c’-4c+1=0

. 41,/ (—4)2-(4x3x1)

e —
= 2%3
4+\16-12
c=——"
= 6
4i\;‘z
cC = 5
= 6
6 2
£ == 0Lt = =
= 6 6
1
cC =~
= 3€(0,1)

* Rolle’s Theorem is verified.

(v) f(x)=(x*-1) (x-2)on [-1, 2]

Solution:

Given functionis f (x) = (x> = 1) (x—2) on [- 1, 2]
Since, given function f is a polynomial it is continuous and differentiable everywhere
that is on R.

Let us find the values at extremes:

A (-1)=((-1)>-1)(-1-2)

Sl () =(1-1)(-3)

=f(-1)=(0)(-3)

=>f(-1)=0

=>f(2)=(22-1)(2-2)

=f(2)=(4-1)(0)

=f(2)=0
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veremy g

~ f(—1)=f(2), Rolle’s theorem applicable for function f on [ - 1,2].
Let’s find the derivative of f(x)

e . d((x®-1)(x-2))
=)f (X) - dx

Differentiating using product rule,

d(x —1)

L PE =x—x—"r 1 (x2 — 1) 262

-
= f(x) = ((x—2) x2x) + ((x* - 1) x 1)

=f(x)=2x*—-4x+x*—-1

=f(x)=2x*—4x—-1

We have f'(c) =0 c e (— 1, 2), from the definition of Rolle’s Theorem.
=F(c)=0

=2c-4c-1=0

44,/(—4)2—(ax2x-1)

= 2x2
o _ 4VTETE
= 4
4+24
c = —
= 4
4+246 -24/6
c = “Qarc = )
= 4
6 6
cd1+Q% orc=1-=
= 2 2
6
c = 1——":
= 2€(-1,2)

“ Rolle’s Theorem is verified.
(vi) f(x) =x (x—4)?>on [0, 4]

Solution:
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Given function is f (x) = x (x —4)% on [0, 4]

Since, given function f is a polynomial it is continuous and differentiable everywhere i.e.,
on R.

Let us find the values at extremes:

= f (0) = 0(0 — 4)?

=f(0)=0

= f(4)=4(4-4)?

= f (4) = 4(0)?

=f(4)=0

~ f(0) =f(4), Rolle’s theorem applicable for function ‘f on [0,4].
Let’s find the derivative of f(x):

FeoN d(x(x—4)?)
:f (‘X) a dx

Differentiating using product rule

) — (x— 4)2 5 36,  d(x-2)?)
=’f(}&)—(k 4) xdx £ -

= () = ((x = 41x1) + (02x(x - 4))

= f(x) = (x — 4)* + 2(x* — 4x)

= f'(x) = x*— 8x + 16 + 2x* — 8x

= f'(x) = 3x* — 16x + 16

We have f'(c) =0 c € (0, 4), from the definition of Rolle’s Theorem.
=f(c)=0

=3c®-16c+16=0

16+, (-16)>—(4x3x16)
= 2x3

16+/256—-192
= 6

16+y64
=3 6
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~
Il
|

g 24
- BEn = —
& =]

P
= 6€(0,4)

~ Rolle’s Theorem is verified.

(vii) f(x) =x (x=2)?>on [0, 2]

Solution:

Given function is f (x) = x (x — 2)? on [0, 2]

Since, given function f is a polynomial it is continuous and differentiable everywhere
that is on R.

Let us find the values at extremes:

= f (0) =0(0 — 2)?

=f(0)=0

= f(2)=2(2-2)?

= f (2) = 2(0)?

=f(2)=0

f (0) = f(2), Rolle’s theorem applicable for function f on [0,2].

Let’s find the derivative of f(x)
f’ (k) _ dix(x—-2)")
dx

Differentiating using UV rule,

T2, W2 I d((x—2)2)
=>f(~x) = (x—=2)° X F + X =

= f'(x) = ((x — 2)*%1) + (xx2x(x — 2))

= f'(x) = (x=2)% + 2(x* — 2x)

= f'(x) =x*—4x+ 4 + 2x* — 4x

=f(x)=3x"-8x+4

We have f'(c) =0 c € (0, 1), from the definition of Rolle’s Theorem.

=f'(c)=0
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=3c?-8c+4=0

8+, (—8)2—(4x3x4)

= 2X%3
5= 8+\6a—ag
= 6
Qi\“‘l_ﬁ
c = -
= 6

12 6
C = —0arc = -
= 6 L]

=c=1¢(0,2)

* Rolle’s Theorem is verified.

(viii) f (x) =x*+ 5x + 6 on [-3, -2]

Solution:
Given function is f (x) = x>+ 5x + 6 on [- 3, — 2]
Since, given function f is a polynomial it is continuous and differentiable everywhere i.e.,
on R. Let us find the values at extremes:
=>f(-3)=(-3)?+5(-3)+6
=>f(-3)=9-15+6
=f(-3)=0
=>f(-2)=(-2)2+5(-2)+6
=f(-2)=4=10+6
=f(-2)=0
~ f(-3)=1(-2), Rolle’s theorem applicable for function fon [ -3, — 2].
Let’s find the derivative of f(x):
s ) d(x® + 5x + 6)

O e
d(x®) , d(sx) , d(e)

ax g dx + dx

SUK) =
(@) =2x+5+0

= f(x)=2x+5
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We have f'(c) =0 c e (— 3, — 2), from the definition of Rolle’s Theorem

=f(c)=0
=2c+5=0
=2c=-5
=y B _g

=>C=—25¢(-3,-2)

“ Rolle’s Theorem is verified.

3. Verify the Rolle’s Theorem for each of the following functions on the indicated
intervals:

(i) f (x) = cos 2 (x — t/4) on [0, /2]
Solution:

Given function is f(x) = cos2 (X_ E) Rl [0%]

We know that cosine function is continuous and differentiable on R.

Let’s find the values of the function at an extreme,

=:’1‘(0) = cosz(O—E)
=)f(0) = cosZ(—E)

_,f(0) = cos (— g)

We know that cos (—x) = cos x

=f(0)=0
L1(3) = cos2(5-5)

() = cos2(})



www.edugrooss.com

EDUGROSS

WISDOMISING KNOWLEDGE

RD Sharma Solutions for Class 12 Maths Chapter 15
Mean Value Theorems

L) = cos(3)
LG =1

We getf(o) = f(E), so there exista“* (0’ 5)such that f'(c) = 0.

Let’s find the derivative of f(x)

ﬁf (X) - dx

. f'(x) = —sin (2 (x —E))@

- f'(x) = —2sin2 (x - I)
We have f'(c) =0,

:‘—Zsinz(c—g) = 0

114 114
G = —G(O,—)
= 4 2

* Rolle’s Theorem is verified.

(i) f (x) = sin 2x on [0, /2]
Solution:

, o . 0]
Given function is f (x) =sin2xon L™ 2

We know that sine function is continuous and differentiable on R. Let’s find the
values of function at extreme,

= f(0) =sin2 (0)
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= f (0) =sin0

=f(0)=0

_1(5) = sm2(3)

— f(g) = sin(m)

L5 =0

We havef(o) - f(g), so there exist a“© (0’ g)such that f'(c) = 0.

Let’s find the derivative of f(x)

’ . d(sin2x)
=>f (X) o dx

d(2x)
dx

=)f (x) = cos2x

= f'(x) = 2cos2x
We have f'(c) =0,
=2cos2c=0

26 =
=

ta | A

C EE(O,E)

= 4 2

“ Rolle’s Theorem is verified.
(iii) f (x) = cos 2x on [-1t/4, /4]

Solution:

mMm
Given functionis cos 2xonl 4’ 4]

We know that cosine function is continuous and differentiable on R. Let’s find
the values of the function at an extreme,
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We know that cos (—x) = cos x

=f(0)=0

L1(2) = cona(?)
L(2) = cos(2)
RERE

We havef(_ E) - fG), so there exist a“* (_ - Z)such that f(c) = 0.

Let’s find the derivative of f(x)

" __ dicos2x)
= f (X) o dx

: e d(2x)
=)f (x) = —sin2x =

= f'(x) =— 2sin2x
We have f'(c) =0,

= —2sin2c=0
= 2¢c =0

T m
ab, — Gt (0’ E)
. Rolle’s Theorem is verified.
(iv) f (x) = e*sin x on [0, it]

Solution:
Given function is f (x) = €*sin x on [0, m]
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We know that exponential and sine functions are continuous and differentiable on R.

Let’s find the values of the function at an extreme,
= f (0) = e%in (0)

= f(0) = 1x0
=f(0)=0

= f(m) = e™sin(m)
- f(m) = e™x0

f(m) =10

We havef(0) = f(“), so there exist aC€(0. T sych that f {c)=0.

Let’s find the derivative of f(x)

’ . d(e¥sinx)
= f (X) o dx

' g pud d(e¥)  d(sinx)
=:,f(x) = sinx—— + e*—_—

= f'(x) = " (sin x + cos x)
We have f'(c) =0,

= e‘(sinc+cosc)=0
=sinc+cosc=0

: O g 1
—sinc + —cosc = 0
V2 V2

- uis . i1
sin (—) sinc + cos (—) cosc = 0
= 4 4

m
cos(c——) = )

= 4

n mn

cC— = —

= 4 2

3m
L B= TE(O,H)

“ Rolle’s Theorem is verified.
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(v) f (x) = e* cos x on [-1t/2, n/2]
Solution:

|
Given function is f(x) = e*cos x on [_ E’E]

We know that exponential and cosine functions are continuous and
differentiable on R. Let’s find the values of the function at an extreme,

19 - eeos(-3)

=:’f(—E) = e'gxo

Il
™

= f(m)
—f(m) =0

™ m M

We havef(_ 5) - f(z), 50 there exist a“© (_5’ E)such that (c) = 0.

Let’s find the derivative of f(x)

i . d(e* cosx)
=>f x) = dx

' il d(e*) x dlcosx)
=)f (x) = cosx Sl e

= f'(x) =e* (—sin x + cos x)
We have f'(c) =0,

= e(—sinc+cosc)=0

=-—-sinc+cosc=0

-1

. 1
—sinc + —cosc = 0
=12 V2
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e TN n
—Sin (—) sinc + COS(—)COSC =/}
= 4 4

=}cos(c + E) = 0

!
+
!
Il
ra A

“ Rolle’s Theorem is verified.
(vi) f (x) = cos 2x on [0, 1]

Solution:

Given function is f (x) = cos 2x on [0, 1]

We know that cosine function is continuous and differentiable on R. Let’s find the values
of function at extreme,

= f (0) = cos2(0)

= f (0) = cos(0)

=f(0)=1

= f (n) = cos2(™)

= f () = cos(2 m)

=>f(n)=1

We have f (0) = f (i), so there exist a c belongs to (0, i) such that f'(c) = 0.
Let’s find the derivative of f(x)

1oy _ dlcos2x)
=>f (X) N dx

d(2x)
dx

- f'(x) = —sin2x
ST(x) ==2sin2x
We have f'(c) =0,
=—2sin2c=0
=2c=0

118 .8
_ ¢ = €0,m)
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Hence Rolle’s Theorem is verified.

(vii) f(x) = ?ono <x<m

Solution:
sinx

Given function is f(x) = e on[0,7]

This can be written as

= f (x) = e *sinxon [0,T]

We know that exponential and sine functions are continuous and differentiable
on R. Let’s find the values of the function at an extreme,

= f(0) = e ~%in(0)
= f(0) = 1x0
=f(0)=0

= f(m) = e ™sin(m)
f(m) = eT™x0
f(m) =10

We have f (0) = f (), so there exist a c belongs to (0, i) such that f'(c) = 0.

Let’s find the derivative of f(x)

' - d(e *sinx)
= £ (X) o dx

d(e™) _x d(sinx)
dx W B dx

z)f’(x) = sinx

= f'(x) =sin x (—e ™) + e "*(cos x)
= f'(x) = e 7(~sin x + cos x)

We have f'(c) =0,
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=e “(-sinc+cosc)=0

=—sinc+cosc=0

L . i |
——=SI + —os = 0
V£

= v2

: i L Tt
—Slin (—) sinc + cos (—) cosec = 0
= 4 4

TT y
C = ZE(O'H)
“ Rolle’s Theorem is verified.

(viii) f (x) = sin 3x on [0, ]

Solution:

Given function is f (x) = sin3x on [0, ]

We know that sine function is continuous and differentiable on R. Let’s find the values
of function at extreme,

= f (0) =sin3(0)

= f (0) =sin0

=f(0)=0

= f (i) = sin3(m)

= f () =sin(3 n)

=>f(n)=0

We have f (0) = f (i), so there exist a c belongs to (0, i) such that f'(c) = 0.
Let’s find the derivative of f(x)

" . d(sin3x)
=)f (X) o dx

d(3x)
dx

") — ,
=,f (x) = cos3x

= f'(x) = 3cos3x
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We have f'(c) =0,
=> 3c0s3c=0

3C =

m
= 2

m
L= ge(O,‘rr)

“ Rolle’s Theorem is verified.
(ix) f(x) = e~ on [-1, 1]
Solution:

. s
Given function is f(X) = '™ gp [-1,1]

We know that exponential function is continuous and differentiable over R.
Let’s find the value of function f at extremes,

if(_l) = 91_(_1)2

- f(—1) = e

=f(-1) =€’
=f(-1)=1
_f(1) = et ¥
- f(1) = e
=f(1)=¢°
(1] =1

We got f (—1) =f (1) so, there exists a c € (— 1, 1) such that f'(c) = 0.

Let’s find the derivative of the function f:

() = —d(e;:xz)
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_e2d(1-x2)
91 X \ J

=>f (‘X) - dx

S f(x) = e (—2x)
We have f'(c) =0
_el™(=2c) = 0
=2c=0

=c=0€[-1,1]

~ Rolle’s Theorem is verified.
(x) f (x) = log (x* +2) —log 3 on [-1, 1]

Solution:

Given function is f (x) = log(x*> + 2) —log3 on [- 1, 1]

We know that logarithmic function is continuous and differentiable in its own domain.
We check the values of the function at the extreme,

= f(-1)=log((-1)*+2)—log 3

=>f(-1)=log(1+2)—log3

=>f(-1)=log3-log3

=f(-1)=0

= f(1)=log (12+2)—log 3

=f(1)=log(1+2)—-log3

= f(1)=log3—log3

=f(1)=0

We have got f (— 1) =f (1). So, there exists a c such that c € (— 1, 1) such that f'(c) = 0.
Let’s find the derivative of the function f,

) d(lo (2 + 2")—10 3)
—

dx
reoy 1 dx®+2)
= f (k) T xZ+2  dx 0

L =2

x= +2
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We have f'(c) =0

2c

—— =20
= cc+2
=2c=0
=c=0€(-1,1)

“ Rolle’s Theorem is verified.

(xi) f (x) = sin x + cos x on [0, 1t/2]
Solution:

s
Given function is f(x) = sin x + cos x on [0’5]

We know that sine and cosine functions are continuous and differentiable on
R. Let’s the value of function f at extremes:

= f(0) =sin (0) + cos (0)
=F{0)=0+1
=f(0)=1

L) = sm() + cos ()

i

_f(5)=1+0

ST

We havef(o) & f(z). So, there exists a ¢ 6(0'5) such that f'(c) = 0.

Let’s find the derivative of the function f.

d(sinx + cosx)
iy o Al ]
'iz) = ss

= f'(x) =cos x—sin x
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= f'(x) =4 cos®x + 2 cos x— 2

We have f'(c) =0,

= 4cos’c+2cosc—2=0

= 2cos’c+cosc—1=0

= 2cos’c+2cosc—cosc—1=0

= 2cosc(cosc+1)—1(cosc+1)=0
= (2cosc—1)(cosc+1)=0

1 ;
€0SC = = IBFEosSE = —1
= 2
T N "
cC = ge(,O.rr_)

=

“ Rolle’s Theorem is verified.
(xiii) f(x) = % — sin %x on [~1,0]

Solution:

w

.o X R mX
Given function is f(x) = 7 —sin (?) on[-1,0]

We know that sine function is continuous and differentiable over R.

Now we have to check the values of ‘f’ at an extreme

_ f(—l) _ —Tl — (n(;y]’)

=

=}f(:—l) ~ —%—sin(—?ﬂ)

b =4 (-)
=f(-1)=0

b f(0) = g— sin (HTO')
_, f(0) = 0—sin(0)

=f(0)=0-0
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=f(0)=0
We have got f (— 1) =f (0). So, there exists a c € (— 1, 0) such that f’(c) = 0.

Now we have to find the derivative of the function ‘¥’

=)f’(X) - de—siz(ﬁ?x))

() = L cos(=) %)

6 dx

- i) = .- Ecos (E)

2z 6

We have f'(c)=0

. A Q. —Z<@<’ .
Cosine is positive between 2 2, for our convenience we take the

1

interval tobe 2

- 0, since the values of the cosine repeats.

3
We know that = value is nearly equal to 1. So, the value of the c nearly equal to

0.
So, we can clearly say that ce (— 1, 0).

~ Rolle’s Theorem is verified.
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s B s

& (X)) = — — 4(2sinxcosx)
b . B

=:’f (1) = —— 4sin2x

We have f'(c) =0
E—4SiIlZC =0

=T

4sin2c =
=

Al

- 6
sin2c = —
= 4n

6

1
_<_
We know 4n 2

- : |
SiN2c < ~
= 2

2¢ < sin~? (3)
= 2

-

2c<3_
= 6

= = % . (0’ E)

 Rolle’s Theorem is verified.

(xv) f (x) =4°"*on [0, it]

Solution: .

Given functionis f (x) = 4™ on [0, r]

We that sine function is continuous and differentiable over R.
Now we have to check the values of function ‘f" at extremes
= f(0) =40

= f(0)=4°

=f(0)=1
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(xiv).f(x) = — — 4sin*x on [0, —]
Solution:

n
Given function is f(x) = ——4sin®x on [0 6]

We know that sine function is continuous and differentiable over R.

Now we have to check the values of function ‘f at the extremes,

f(O) = — 4sin?(0)

= f(0) = 0-4(0)
=%F{0]=

We havef(o) ( ) So, there exists a c E(O’E) such that f'(c) =
We have to find the derivative of function f.’

d(ﬂ{—d-sin2 x)

r _ A5

= f (X) - dx '
£f) — S _ 4 x 2sinx x 2=

= s

dx

=}'f’(:x:) = g— 8sinx(cosx)
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s . B e s 3
gl = . 4(2sinxcosx)
f'(x) = © _ 4sin2x

= T

We have f'(c) =0

6 .
——4sin2c = 0
114
. 6
4sin2c = —
= 114

4 6
sin2c = —
== 4m

(5] : |
We know 4n 2

2 1
sin2c < -
= 2
Y -
2¢ < sin~?! (—)
= 2
114
2C < —
= 6

=:~C <%E(O'E)

“ Rolle’s Theorem is verified.

(xv) f (x) =4°"*on [0, ]

Solution: .

Given function is f (x) = 4"™ on [0, n]

We that sine function is continuous and differentiable over R.
Now we have to check the values of function ‘f’ at extremes
= f(0)= 4"

= f(0)=4°

==f{Dl=1
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= f () =40

= f () =4°

=f(n)=1

We have f (0) = f (i). So, there exists a c € (0, ) such that f'(c) = 0.
Now we have to find the derivative of ‘f’

d(‘"{_sim{ ')
dx

f'(x) =
=

d(sinx)
dx

i s T sinx
=>f (x) = 4 log4
- f'(x) = 45" ]og4 cosx

We have f'(c) =0
= 4°"™|ogdcosc = 0
=Cosc=0

111
€= Ee(O.rr)

“ Rolle’s Theorem is verified.

(xvi) f (x) = x>=5x +4 on [0, /6]

Solution:

Given function is f (x) = x*—5x + 4 on [1, 4]

Since, given function f is a polynomial it is continuous and differentiable everywhere i.e.,
onR.

Let us find the values at extremes

=f(1)=12-5(1) + 4

=f(l)=1-5+4

=hidp= 0

= f(4)=42-5(4) + 4

=f(4)=16-20+4

=f(4)=0

We have f (1) = f (4). So, there exists a c € (1, 4) such that f’(c) = 0.
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Let’s find the derivative of f(x):

; _ d(x®-5x+4)
= f (X) o dx

reony . d(x®)  dsx) | d(4)
=>f (X) T dx dx ¥ dx

~f(x) =2Zx—=5+ 10
=f(x)=2x-5
We have f'(c) =0

=f(c)=0
=2c—-5=0
=2c=5

=C=25¢(1,4)

“ Rolle’s Theorem is verified.
(xvii) f (x) = sin* x + cos* x on [0, /2]

Solution:

’

i
Given function is f (x) = sin*x + cos*x on [0 E]

We know that sine and cosine functions are continuous and differentiable
functions over R.

Now we have to find the value of function ‘" at extremes
= f (0) = sin* (0) + cos* (0)

= f(0)=(0)*+ (1)

=f(0)=0+1

=f(0)=1
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L1(3) = sin* (3) + cos*(3)
RO
_f(E)=1+0
-

i1 i1

We havef(o) - f(E). So, there exists a c 6(0’5) such that f'(c) = 0.
Now we have to find the derivative of the function f.

d(sin“ x + cos® x)
dx

RIOE

d(sinx) 3. d(cosx)
. om0 o
= 4cos°x =

N f'(x) = 4sin®x
= f'(x) = 4sin®xcosx—4cos>xsinx

= f'(x) = 4 sin x cos x (sin’x — cos?x)
= f'(x) = 2(2 sin x cos x) (— cos 2x)
= f'(x) =— 2(sin 2x) (cos 2x)

= f'(x) =—sin 4x

We have f'(c)=0

= —sindc=0
= sindc=0

=4c=0o0r™

:’>C e TTA:E(O’T_z‘)

“ Rolle’s Theorem is verified.

(xviii) f (x) = sin x —sin 2x on [0, i]
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Solution:

Given function is f (x) = sin x —sin2x on [0, 1]

We know that sine function is continuous and differentiable over R.
Now we have to check the values of the function ‘f’ at the extremes.
= f (0) = sin (0)-sin 2(0)

= f(0) =0-sin (0)

=f(0)=0

= f (1) = sin(m) — sin2(m)

= f (n) =0 -sin(2n)

=f(n)=0

We have f (0) = f (). So, there exists a ¢ € (0, i) such that f’(c) = 0.

Now we have to find the derivative of the function ‘f’
£ ()&) __ d(sinx—sin2x]
- - dx
d(2x)

f'(x) = cosx— cos2x—
= dx

COSX — 2C082X

L (%)
= f'(x) = cos x — 2(2cos*x — 1)
= f'(x) = cos x — 4cos’x + 2
We have f'(c) =0

= Cos c—4cos’c+2=0

—1+,/(1)2—(4x—-4x2)

2xX—4

COSC =
=

COSC =
=

_ _1—1433,
_ € = cos (—_8 )

We can see that c € (0, i)

* Rolle’s Theorem is verified.

4. Using Rolle’s Theorem, find points on the curve y = 16 — x?, x € [-1, 1], where
tangent is parallel to x — axis.
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Solution:

Given functionisy =16 —-x? xe[- 1, 1]

We know that polynomial function is continuous and differentiable over R.
Let us check the values of ‘y’ at extremes

>y(-1)=16- (- 1)

=>y(-1)=16-1

=>y(-1)=15
=>y(1)=16-(1)
=>y(l)=16-1
=y(1)=15

We havey (—1) =y (1). So, there exists a c € (— 1, 1) such that f’(c) = 0.

We know that for a curve g, the value of the slope of the tangent at a point r is given by
g'(r).

Now we have to find the derivative of curve y

d(16—-x7)

7
4 =
:)5 dx

=y =—2x

We have y’(c) =0

=>-2c=0

=>c=0e(-1,1)

Value of yatx=11is

=>y=16-0?

=y =16

~ The point at which the curve y has a tangent parallel to x — axis (since the slope of x —
axisis 0) is (0, 16).
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EXERCISE 15.2 PAGE NO: 15.17

1. Verify Lagrange’s mean value theorem for the following functions on the indicated
intervals. In each case find a point ‘c’ in the indicated interval as stated by the
Lagrange’s mean value theorem:

(i) f(x)=x2=10n[2,3]

Solution:
Given f (x) =x*—1 on [2, 3]

We know that every polynomial function is continuous everywhere on (—eo, o)
and differentiable for all arguments. Here, f(x) is a polynomial function. So it is
continuous in [2, 3] and differentiable in (2, 3). So both the necessary
conditions of Lagrange’s mean value theorem is satisfied.

Therefore, there exist a point c € (2, 3) such that:

3 -f(2)

FiEl= )

= f'(c)=f(3) -f(2)
1

f(x)=x*-1

Differentiating with respect to x
f'(x) = 2x

For f'(c), put the value of x=c in f'(x):
f'{c) = 2c

For f (3), put the value of x=3 in f(x):
f(3)=(3)°-1

=9-1

=8

For f (2), put the value of x=2 in f(x):
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f(2)=(2)*-1
=4-1

=3
“Flc)=1(3)-1(2)
= 2c=8-3

= 2c=5

=% =§ (2, 3)

Hence, Lagrange’s mean value theorem is verified.
(ii) f(x) =x®*-2x*-x+30on [0, 1]
Solution:

Givenf (x)=x>*—=2x*—x+30on [0, 1]

Every polynomial function is continuous everywhere on (-, oo) and differentiable for
all arguments. Here, f(x) is a polynomial function. So it is continuous in [0, 1] and
differentiable in (0, 1). So both the necessary conditions of Lagrange’s mean value
theorem is satisfied.

Therefore, there exist a point ¢ € (0, 1) such that:

. f(1)-f(0)
f(C_)—W
- (=i THO)

f(x)=x3—2x>=-x+3

Differentiating with respect to x
f(x) =3x2-2(2x) -1

=3x>-4x-1

For f'(c), put the value of x=c in f'(x)
f(c)=3c*—4c-1

For f (1), put the value of x = 1 in f(x)
f(1)=(1)*-2(1)>-(1)+3
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=1-2-1+3

=1

For f (0), put the value of x=0 in f(x)
f (0)=(0)*-2(0)>-(0) +3
=0-0-0+3

=3

= f'(c) = (1) - £(0)
=3c’-4c-1=1-3
=3c?-4¢c=1+1-3
=3c?2-4c=-1
=3c’-4c+1=0
=3c?-3c-c+1=0

= 3c(c-1)-1(c-1)=0
=(3c-1)(c-1)=0
=Cc=5,1

3
1
= c=§e(0, 1)

Hence, Lagrange’s mean value theorem is verified.
(iii) f (x) =x (x=1) on [1, 2]

Solution:

Givenf(x)=x(x—1)on[1, 2]

=x2 =X

Every polynomial function is continuous everywhere on (-, oo) and differentiable for
all arguments. Here, f(x) is a polynomial function. So it is continuous in [1, 2] and
differentiable in (1, 2). So both the necessary conditions of Lagrange’s mean value
theorem is satisfied.

Therefore, there exist a point ¢ € (1, 2) such that:

{01 =1)
. f(2) - f(1
- f9="R 1)

f(x)=x2—x
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Differentiating with respect to x
f'(x)=2x-1

For f'(c), put the value of x=c in f'(x):
f'(c)=2c-1

For f (2), put the value of x = 2 in f(x)
f(2)=(2)"-2

=4-2

= 2

For f (1), put the value of x = 1 in f(x):
f(1)=(1)?-1

=1-1

=0

=~ f'(c) =f(2) — (1)

=2c-1=2-0

=>2c=2+1

=>2c=3

3
= C=§E(1, 2)

Hence, Lagrange’s mean value theorem is verified.

(iv) f (x) =x*=3x+2o0n[-1, 2]

Solution:

Givenf (x)=x*—3x+2on[-1,2]

Every polynomial function is continuous everywhere on (-, =) and differentiable for
all arguments. Here, f(x) is a polynomial function. So it is continuous in [- 1, 2] and
differentiable in (— 1, 2). So both the necessary conditions of Lagrange’s mean value
theorem is satisfied.

Therefore, there exist a point ¢ € (-1, 2) such that:

f'(c)=f(2) -f(-1)

2~{~1)

f(2) -f(-1)
2+1
f(2) -f(-1)
3

= f ()=

= f ()=
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f(x)=x>—3x+2

Differentiating with respect to x
f'(x)=2x-3

For f'(c), put the value of x = cin f'(x):
f'(c)=2c-3

For f (2), put the value of x = 2 in f(x)
f(2)=(2)>-3(2)+2

=4-6+2

=0

For f (— 1), put the value of x =—1 in f(x):
f(-1)=(-1)%*-3(-1)+2

=1+3+2
=6
o f(2)-f(-1
fof@-f(-1)
3

2 3_0-6
= <LC—-0 = 3
=>2C=T+3
=20=—2+3
=2c=-1

-1
:C:TE(-LZ)

Hence, Lagrange’s mean value theorem is verified.

(v) f(x)=2x*-3x+1on[1,3]

Solution:

Given f (x) =2x?=3x+1on [1, 3]

Every polynomial function is continuous everywhere on (-, =) and differentiable for
all arguments. Here, f(x) is a polynomial function. So it is continuous in [1, 3] and
differentiable in (1, 3). So both the necessary conditions of Lagrange’s mean value
theorem is satisfied.

Therefore, there exist a point ¢ € (1, 3) such that:
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flo=120 1)
. i3l =Rl
RO Rl O

f(x)=2x*-3x+1
Differentiating with respect to x
f'(x) =2(2x) -3
=4x-3
For f'(c), put the value of x = cin f'(x):
f'(c)=4c-3
For f (3), put the value of x = 3 in f(x):
f(3)=2(3)>-3(3)+1
=2(9)-9+1
=18-8=10
For f (1), put the value of x = 1 in f(x):
f(1)=2(1)>-3(1)+1
=2(1)-3+1
=2-2=0
f(3) — f(1)

2

10-0

2

f(c)=

=4c-3=

4_10 3
=>C—2+

=4c=5+3

=4c=8

8
=3~ 2c(1, 3)

Hence, Lagrange’s mean value theorem is verified.

(vi) f(x) =x>*—-2x+40on[1,5]

Solution:
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Givenf(x) =x>*—2x+4o0n[1, 5]

Every polynomial function is continuous everywhere on (-, oo) and differentiable for
all arguments. Here, f(x) is a polynomial function. So it is continuous in [1, 5] and
differentiable in (1, 5). So both the necessary conditions of Lagrange’s mean value
theorem is satisfied.

Therefore, there exist a point ¢ € (1, 5) such that:

o f5) = f(1)

R =
. f(5) - f(1

=IO

f(x)=x>*—2x+4

Differentiating with respect to x:

f'(x) =2x-2

For f'(c), put the value of x=c in f'(x):

f'(c)=2c-2

For f (5), put the value of x=5 in f(x):

f(5)=(5)*-2(5)+4

=25-10+4

=19

For f (1), put the value of x = 1 in f(x)

f(1)=(1)>-2(1)+4

=1-2+4

LR

v . 1(8)— K1

f (C)—T

19-3
4

= 2C - 2%&

2c—16 2
= _4+

=20=4+2

=D

6
SR = 3¢e(1, 5)

Hence, Lagrange’s mean value theorem is verified.
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(vii) f (x) =2x—x%on [0, 1]

Solution:

Given f (x) =2x—x?on [0, 1]

Every polynomial function is continuous everywhere on (-, =o) and differentiable for
all arguments. Here, f(x) is a polynomial function. So it is continuous in [0, 1] and
differentiable in (0, 1). So both the necessary conditions of Lagrange’s mean value
theorem is satisfied.

Therefore, there exist a point ¢ € (0, 1) such that:

. f(1) — f(0)
M
= f'(c) = f(1) - f(0)
f(x)=2x—x?
Differentiating with respect to x:
f'(x) =2 -2x
For f'(c), put the value of x = c in f'(x):
f'(c)=2-2c

For f (1), put the value of x = 1 in f(x):
f(1)=2(1) - (1)?

=2-1

=1

For f (0), put the value of x = 0 in f(x):
f (0) =2(0) - (0)?

=0-0
=0
f'(c) = f(1) - f(0)
=2-2c=1-0
=>-2c=1-2
=>-2c=-1

-1 1
ﬁC——_-E—EE(O, 1)

Hence, Lagrange’s mean value theorem is verified.
(viii) f(x) = (x=1) (x=2) (x - 3)

Solution:
Givenf(x)=(x—1)(x—2) (x—3) on [0, 4]
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=(x*=x—2x+3) (x=3)

=(x*=3x+3)(x—3)

=x>—=3x+3x—-3x*+9x -9

=x>—6x>+12x—-90n [0, 4]

Every polynomial function is continuous everywhere on (-, =) and differentiable for
all arguments. Here, f(x) is a polynomial function. So it is continuous in [0, 4] and
differentiable in (0, 4). So both the necessary conditions of Lagrange’s mean value
theorem is satisfied.

Therefore, there exist a point ¢ € (0, 4) such that:

o f@) - f(0)
fO="2-0
. f'(c)=f(‘4) ; f(0)

f(x)=x>—6x2+12x-9
Differentiating with respect to x:
(x) = 3x*> — 6(2x) + 12
=3x?>-12x+12

For f'(c), put the value of x =cin f'(x):
f(c)=3c*—12c+ 12

For f (4), put the value of x =4 in f(x):
f(4)=(4)°-6(4)>+12(4)-9
=64-96+48-9

=7

For f (0), put the value of x = 0 in f(x):
f(0)=(0)>*-6(0)>+12(0)-9

=0-0+0-9

=_9 f(4) — f(0)

f(c_):—"4—

= 3c?-12c + 12=7_T(_9)
7+9

=3c*-12c+ 12 =

4
16
=3c?-12c + 12=T
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=3c?-12c+12=4

=3c?-12c+8=0

We know that for quadratic equation, ax* + bx+c=0

-b+vb? - 4ac

B 2a
-(-12)¢J(-12)2 -4x3x8
S 2x3
12+144 - 96
= =
6
12448
0= ——
6
12+ 43
=2C= —
6
_12 43
+HE ™ B
2
=‘>C=2i—\/§
3
23 2V3
=>C=2+T,2— TEC

Hence, Lagrange’s mean value theorem is verified.

(ix). f(x) = /25 — x2 on [-3, 4]

Solution:
Given

f(x)=v25-%x20n[ -3, 4]
Here,V 25-x2>0
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= 25—-x2>0
=x*<25
=-5<x<5

= /25 - x? has unique values for all xe( -5, 5)

~ f (x) is continuous in [- 3, 4]

1
f(x)=(25 - x2)?
Differentiating with respect to x:

(z-1) d(25 - x?)

1
f'(x) =35 (25 -x?) ix

_1
5 f'(x):%(zs - x?) : (-2x)

- 2X
=2 Tlx)= g
2 (25-x2)2
- 2X
= ()= T
2(25-x2?)2
= f(X)=——
25 - x2
Here also,
V25 - x2>0
=-5<x<5

~ f (x) is differentiable in (- 3, 4)

So both the necessary conditions of Lagrange’s mean value theorem is
satisfied. Therefore, there exist a point c € (-3, 4) such that:

f(4) - f(-3)

f'(C)= 4_(_3)
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f(4) - f(-3)
4+3
na}—1~-3)
7

= f(0)=

= f ()=

f(x)=(25 - xz)%

On differentiating with respect to x:

V25 - x2

For f'(c), put the value of x = c in f'(x):

f(x)=

-C
V25 - ¢?
For f (4), put the value of x =4 in f(x):

1

f(4)=(25-42)

f(o)=

- f(4)=(25 - 16)2

— f(4)=(9)%
=f(4)=3

For f (— 3), put the value of x =— 3 in f(x):

1

f(-3)=(25- (-3)*)
= f(-3)=(25-9)?

S f(=3)=(16)2
=f(-3)=4

f(4) -f(-3)

fO="
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-C 3-4
i _
J25 - ¢2 7
-C -1
= —
\""25—C2 7

= -7¢c=-425-¢?

Squaring on both sides:

= (- 7C)2 =(-v25- C2)2

=49c?=25-¢?

= 50¢2 =25
25
R
= C _5
1
2

1
=?’C=:ETE(—3, 4)
V2

Hence, Lagrange’s mean value theorem is verified.

(x) f (x) = tan’x on [0, 1]

Solution:

Givenf (x) =tan~'xon [0, 1]

Tan ! x has unique value for all x between 0 and 1.
~ f(x) is continuous in [0, 1]

fdath= talh ! x

Differentiating with respect to x:

3 AT

W=7 e

x? always has value greater than 0.
=>1+x*>0

~ f (x) is differentiable in (0, 1)
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So both the necessary conditions of Lagrange’s mean value theorem is satisfied.
Therefore, there exist a point ¢ € (0, 1) such that:
f(1) — f(0)
1-0
=f(c)=f(1)-f(0)

f(o)=

f(x)=tan"1x

Differentiating with respect to x:

)=

1+x2

For f'(c), put the value of x=c in f'(x):

FlO=1re

For f (1), put the value of x=1 in f(x):
f(l)=tan~11

= f(1)=7

For f (0), put the value of x=0 in f(x):
f(0)=tan™'0
=f(0)=0

f(c)=1(1)-f(0)

1 _n 0
“1+& 49

1 n

“1+c2 " 3
=4 =n(1+c?

= 4 =n+ nc?

=-ncl=n-4
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4
sc= }E -1=0.52¢(0, 1)

Hence, Lagrange’s mean value theorem is verified.
. 1
(xi) f(x) = x + L on [1,3]

Solution:
Given

1
)= x +; on[1, 3]
F (x) has unique values for all x € (1, 3)
“ f(x) is continuous in [1, 3]

1
f)=x +; on|[1, 3]
Differentiating with respect to x
f(x)=1+(-1)(x) 2

1

=>f(x)=1- v

x2—1
700 = 2

2
Here,X“#0

= f'(x) exists for all values except 0

~ T (x) is differentiable in (1, 3)
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So both the necessary conditions of Lagrange’s mean value theorem is
satisfied. Therefore, there exist a point c € (1, 3) such that:

f(3) — f(1)
B

f(3) - f(1)
2

f(c)=
=f (0)=
f(xX)=x +;

On differentiating with respect to x:

x2—1
x2

F) =

For f'(c), put the value of x=c in f'(x):

c2—-1

fi(o)= 2

For f (3), put the value of x = 3 in f(x):
1
f(3)=3+ 3
S+1

10

For f (1), put the value of x =1 in f(x):
1
f(1)=1+ 1
ST (1) k2
f(3) — f(1)
Z

10
-1 J—2

cz 2

= f(0)=

=
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2
= C==
2
=c2=3

=c==%3¢(-3,4)

Hence, Lagrange’s mean value theorem is verified.
(xii) f (x) = x (x + 4)? on [0, 4]

Solution:

Given f (x) =x (x + 4)>on [0, 4]

=x [(x)?+2 (4) (x) + (4)°]

=x (x2 + 8x + 16)

=x3 + 8x%+ 16x on [0, 4]

Every polynomial function is continuous everywhere on (-, oo) and differentiable for
all arguments. Here, f(x) is a polynomial function. So it is continuous in [0, 4] and
differentiable in (0, 4). So both the necessary conditions of Lagrange’s mean value
theorem is satisfied. Therefore, there exist a point c € (0, 4) such that:

. f(4) - (0
{o="B —FO)
- {(of@ ~ fO)

4
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f(x) = x3 + 8x? + 16x

Differentiating with respect to x:
f(x) = 3x* + 8(2x) + 16

=3x>+16x + 16

For f'(c), put the value of x = c in f'(x):
f'(c)=3c*+ 16¢c + 16

For f (4), put the value of x =4 in f(x):
f (4)= (4)® + 8(4)> + 16(4)

=64+ 128 +64

=256

For f (0), put the value of x =0 in f(x):
f (0)= (0) + 8(0)> + 16(0)

=0+0+0
=0
. f(4) — f(0)
f(c‘)_T
256 — 0
= 3cZ + 16c+ 16=T
256
= 3c2 + 16Cc + 16=T

= 3c’+16c+ 16=64
=3c?+16c+16—-64=0
=3c?+16c—-48=0

For quadratic equation, ax* + bx +c=0

- -bxVb?% - 4ac

2a
- (16)iJ(16)2 -4x3x( - 48)
=C= 5% 3
- 16+256+576
==

6
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-16£.832
=S t=
6
c -16+ 813
= —
6
c —16i8v’ﬁ
= —
6 6
-8, 43
B 3
_ -8 4\13 -8 413
=>C—3+3 ,3— 3EC

Hence, Lagrange’s mean value theorem is verified.

(xiii) f(x) = /x2 — 4 on [2, 4]

Solution:
Given

f(x)=+x%2—40n[2, 4]
Here,

——
\."X2 —4>0

= x'—4>0

=>xi»1

= f (x) exists for all values expect (-2, 2)
~ f(x) is continuous in [2, 4]
f(x)=x2— 4

Differentiating with respect to x:

5 G-1) d(x?—4)

f(x)==(x%-4) Ix

S]]



www.edugrooss.com

EDUGROSS

WISDOMISING KNOWLEDGE

RD Sharma Solutions for Class 12 Maths Chapter 15
Mean Value Theorems

1
- F(x):%(xz _4) (2%

2
- F()=——
2(x2—4)2
X2 —4

Here also,v X% —4>0

= f'(x) exists for all values of x except (2, — 2)
~ T (x) is differentiable in (2, 4)

So both the necessary conditions of Lagrange’s mean value theorem is
satisfied.

Therefore, there exist a point ¢ € (2, 4) such that:

{019 1)
. f(a) -f(2
="

f(x)=+x%2—4

On differentiating with respect to x:

X
f(X)=———
Vx%—4
For f'(c), put the value of x=c in f'(x):
-
f(c)=——
c2—4

For f (4), put the value of x =4 in f(x):

f(4) = JZ
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= f(4) = (16 - 4)2

= f(4)=,12

= f(4)= 23
For f (2), put the value of x = 2 in f(x):

f(2) = JZ

S f(2) = (4-4)2

=f(2)=0
- fof @ -f2)
2
o 2V3-0
= —_
c2 - 2

c
=)\/c2-4= ﬁ

=c=(/3)/c2-4

Squaring both sides:

= (€= ((BWE=-4)
= c?=3(c*-4)
=ct=3c2-12

=-2c=-12
-12

=>C=:I:\/€
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=>c=.6¢€(2,4)

Hence, Lagrange’s mean value theorem is verified.

(xiv) f (x) =x*+x—1on [0, 4]

Solution:

Givenf (x) =x*+x—10n [0, 4]

Every polynomial function is continuous everywhere on (-, =<) and differentiable for
all arguments. Here, f(x) is a polynomial function. So it is continuous in [0, 4] and
differentiable in (0, 4). So both the necessary conditions of Lagrange’s mean value
theorem is satisfied. Therefore, there exist a point ¢ € (0, 4) such that:

' __f(:4:) — f(0)
f(_C_)—T
.z B (C)=f(4_) ; f(0)

f(x)=x*+x-1
Differentiating with respect to x:

f(x)=2x+1
For f'(c), put the value of x = c in f'(x):
f(c)=2c+1

For f (4), put the value of x = 4 in f(x):
f(4)=(4)+4-1

=16+4-1

=19

For f (0), put the value of x = 0 in f(x):
f(0)=(0)’+0-1

=0+0-1

=-1

. f(4) — f(0)

f'-(C_)—4—
19-(-1)

= 2C+ l—f
20

=2C+1=——

4
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=%2C+ 1=5
=2c=5-1
=2c=4

4
=>C=§=ZE(0,4)

Hence, Lagrange’s mean value theorem is verified.

(xv) f (x) = sin x —sin 2x—x on [0, m]

Solution:

Given f (x) = sin x —sin 2x—xon [0, 1]

Sin x and cos x functions are continuous everywhere on (-oo, =) and differentiable for
all arguments. So both the necessary conditions of Lagrange’s mean value theorem is
satisfied. Therefore, there exist a point c € (0, ) such that:

{0 = KO
< (=0 = O

f(x) =sin x—sin 2x—x
Differentiating with respect to x:
f (x) = sin x — sin 2x=x

d(2x)
dx

= f'(X)=cosx - 2cos 2x - 1

= f'(x)=cos x - cos 2x 1

For f'(c), put the value of x=c in f'(x):
el alfos c— 2cos 2c—-1

For f (mt), put the value of x = in f(x):
f(m)=sinm—sin2n—mn

=0-0—-m
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For f (0), put the value of x=0 in f(x):
f(0)=sin0—sin 2(0)—-0

=sin0—sin0-0
=0-=0-0
=0
' f(n) — f(O
f (o f™ = fO)

n

-n-0

= cosc-2cos2c-1= -

= Cosc—2cos2c—-1=-1

= Cosc—2(2cos’c—1)=—1+1
= Cosc—4cos’c+2=0

= 4cos’c—cosc—2=0

For quadratic equation, ax* + bx +c =0

= b+vb® - 4ac

X 2a
-(-1)d:J(-1)2-4x4x(—2)
= C0sSC= x4
1+V1+32
= LOS@= —3%s
8
133
= Co0sSC= 8

1+/33
=>c=cos‘1( 8 )E(O, n)

Hence, Lagrange’s mean value theorem is verified.
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(xvi) f (x) =x®>-5x>*-3xo0n[1, 3]

Solution:

Given f (x) =x3>=5x*—3x on [1, 3]

Every polynomial function is continuous everywhere on (-, =o) and differentiable for
all arguments. Here, f(x) is a polynomial function. So it is continuous in [1, 3] and
differentiable in (1, 3). So both the necessary conditions of Lagrange’s mean value
theorem is satisfied.

Therefore, there exist a point ¢ € (1, 3) such that:

. _f(3)-f(1)
L =
SR

f (x) = x* = 5x% = 3x

Differentiating with respect to x:

f'(x) =3x>—5(2x) -3

=3x>-10x-3

For f'(c), put the value of x=c in f'(x):
f(c)=3c*-10c-3

For f (3), put the value of x = 3 in f(x):
f(3)=(3)*-5(3)*-3(3)

=27-45-9

==27

For f (1), put the value of x = 1 in f(x):
f(1)=(1)°-5(1)*-3 (1)

=1-5a3
—es 7
. AOORS(1)
i’(,c)——2
0 ]
e T 3==20 =7
2
S
by <] Wi
2
-20
- 3c2-10c-3= ——

.
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= 3¢*-10c-3=-10
=3c2-10c-3+10=0
=3c2-10c+7=0
=3c*-7c-3c+7=0
=c(3¢c-7)-1(3c-7)=0
= (3c-7)(c-1)=0

=c=3,

7
= C=§E(1, 3)

Hence, Lagrange’s mean value theorem is verified.

2. Discuss the applicability of Lagrange’s mean value theorem for the function f(x) =
|x|] on[-1, 1].

Solution:
Givenf(x)=|x| on[-1, 1]

-X,8 X<0

So f(x) can be defined as ={ ® Q>0

For differentiability at x =0,

LHD=x[ng_f(O—r1);f(o)
{Since f(x) = — x, x<0}
= [j i, 'W
x—0" -h
= lim h—_O
x—0" =h
= lim i
x—0" =h
RHD = | f(0 - h) - f(0)

T -h



www.edugrooss.com

EDUGROSS

WISDOMISING KNOWLEDGE

RD Sharma Solutions for Class 12 Maths Chapter 15
Mean Value Theorems

{Since f(x) = x, x>0}

- (0-h)-0
N — _h

= |lim =i=4
x—0" -h

= |lim -—h
x—0" =h

LHD # RHD

= f (x) is not differential at x=0

~ Lagrange’s mean value theorem is not applicable for the function f(x) = | x|
on[-1, 1].

3. Show that the Lagrange's mean value theorem is not applicable to the function f(x)
=1/xon[-1, 1].

Solution:
1

GWnKM—xonbd,ﬂ

Here, x#0

= f (x) exists for all values of x except 0

= f (x) is discontinuous at x=0

~ f(x) is not continuous in [— 1, 1]

Hence the Lagrange’s mean value theorem is not applicable to the function f (x) = 1/x on

[-1, 1]

4. Verify the hypothesis and conclusion of Lagrange’s mean value theorem for the
function

(= !

4x — 1

1< x< 4.

Solution:
Given
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f(x)= on[1, 4]

4x -1
Where 4x — 1>0
f'(x) has unique values for all x except %

* f (x) is continuous in [1, 4]

0= 21

Differentiating with respect to x:
F(x)=(-1)(4x -1) "*(4)
4
(4x - 1)?
Here, 4x—1>0

SF() =-

f'(x) has unique values for all x except %
~ f (x) is differentiable in (1, 4)

So both the necessary conditions of Lagrange’s mean value theorem is
satisfied. Therefore, there exist a point c € (1, 4) such that:

f(4) — f(1)

no

f(4) - (1)
3

f(c)=

=f(0)=

f(x)=

4x -1
On differentiating with respect to x:

4

fFX)=———
(x) (4x - 1)*

For f'(c), put the value of x=c in f'(x):
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4
(4c-1)?
For f (4), put the value of x =4 in f (x):

f(c)=-—

W=a@-1

=Rt

1
> f(4)=7¢

For f (1), put the value of x =1 in f(x):

1
4(1)-1
4

1

(1)=

f(4) -f(1)
3
1
- L

= —

" (4c-1) “Q3

= -3(4)= (4c-1)2(% - %)

= - 12= (4c- 1)2(: i 15)

= f(0)=

W =

45

1

j— — 2 ——

=-12= (4¢c-1) ( 45)
5

= -12x = (4c-1)°

-12"7
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= -12x = (4¢c-1)°

-12
= (4c—1)7 =45
= (4c-1) = +,/45

= (4c-1) == 3,/5

" +3\5+1
C= —
4
3V5+1
sc= "7 =1.92¢(1, 4)

4

Hence, Lagrange’s mean value theorem is verified.

5. Find a point on the parabola y = (x — 4)?, where the tangent is parallel to the chord
joining (4, 0) and (5, 1).

Solution:

Given f(x) = (x —4)% on [4, 5]

This interval [a, b] is obtained by x — coordinates of the points of the chord.

Every polynomial function is continuous everywhere on (-, =) and differentiable for
all arguments. Here, f(x) is a polynomial function. So it is continuous in [4, 5] and
differentiable in (4, 5). So both the necessary conditions of Lagrange’s mean value
theorem is satisfied.

Therefore, there exist a point ¢ € (4, 5) such that:

f(5) — f(4)

5-4

f(5) = f(4)
1

f(c)=
> f ()=

f(x)=(x—4)°
Differentiating with respect to x:
d(x-4)

dx
=f(x)=2(x-4) (1)

f(x)=2(x-4)
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= f(x)=2(x—4)

For f'(c), put the value of x=c in f'(x):
f'(c)=2(c-4)

For f (5), put the value of x=5 in f(x):
f(5)=(5—4)

= (1)?

=1

For f (4), put the value of x=4 in f(x):
f(4) = (4 -4)?

=(0)?

=0

f'(c) = f(5) — f(4)

=2(c-4)=1-0

=>2c-8=1

=>2c=1+8

9
ey = 4.5¢(4, 5)

We know that, the value of c obtained in Lagrange’s Mean value Theorem is nothing but
the value of x — coordinate of the point of the contact of the tangent to the curve which
is parallel to the chord joining the points (4, 0) and (5, 1).

Now, put this value of x in f(x) to obtain y:

y = (x—4)
-v=(3-4)
(5]
:’>y_ T
-3
"
:"y—4

9 1
Hence, the required pointis (E . Z)



